2 KD KB
[1] FiRKEE 22—
(1) EREERSEOHHBRE
O 1H1ARE GEEESE . mg/L)

FRAT S KA H TN /) N TR AT FrAx H TN 7/ N5
R5.4 0.30 0.27 0.28 R5.4 0.34 0.29 0.31
R5.5 0.32 0.27 0.28 R5.5 0.34 0.29 0.31
R5.6 0.30 0.27 0.28 R5.6 0.34 0.29 0.31
R5.7 0.30 0.24 0.27 R5.7 0.34 0.28 0.30
R5.8 0.35 0.25 0.28 R5.8 0.33 0.30 0.31
JARAR R5.9 0.32 0.26 0.28 i R5.9 0.34 0.29 0.31
1 (A2V—3R) R5.10 0.33 0.26 0.29 2 (7J<i§¥) R5.10 0.34 0.26 0.31
A H R AT R R5.11 0.31 0.27 0.29 R R5.11 0.34 0.30 0.31
R5.12 0.31 0.27 0.29 R5.12 0.32 0.29 0.31
R6.1 0.34 0.28 0.30 R6.1 0.34 0.30 0.31
R6.2 0.32 0.29 0.30 R6.2 0.35 0.30 0.31
R6.3 0.34 0.29 0.31 R6.3 0.33 0.30 0.31
FERH 0.35 0.24 0.29 HERY 0.35 0.26 0.31
R5.4 0.33 0.29 0.30 R5.4 0.34 0.29 0.31
R5.5 0.33 0.29 0.30 R5.5 0.34 0.29 0.31
R5.6 0.31 0.28 0.30 R5.6 0.32 0.28 0.30
R5.7 0.32 0.28 0.29 R5.7 0.33 0.28 0.30
R5.8 0.33 0.29 0.30 R5.8 0.32 0.28 0.31
EIE 1 R5.9 0.32 0.28 0.30 R 2 R5.9 0.32 0.28 0.30
3 K 5 3%) R5.10 0.33 0.26 0.30 4 (7ki¥];¥) R5.10 0.33 0.27 0.30
e A AT S R5.11 0.34 0.28 0.30 R R5.11 0.33 0.27 0.31
R5.12 0.33 0.29 0.30 R5.12 0.33 0.27 0.30
R6.1 0.33 0.29 0.30 R6.1 0.34 0.30 0.31
R6.2 0.34 0.30 0.31 R6.2 0.35 0.30 0.32
R6.3 0.33 0.30 0.31 R6.3 0.34 0.30 0.31
] 0.34 0.26 0.30 ] 0.35 0.27 0.31
R5.4 0.33 0.29 0.31 R5.4 0.33 0.29 0.30
R5.5 0.33 0.29 0.30 R5.5 0.34 0.29 0.32
R5.6 0.33 0.27 0.30 R5.6 0.33 0.29 0.31
R5.7 0.34 0.27 0.31 R5.7 0.33 0.28 0.30
R5.8 0.33 0.29 0.31 R5.8 0.35 0.27 0.31
AR 1 R5.9 0.34 0.30 0.32 WE 2 R5.9 0.36 0.30 0.33
5 (i /AR R) R5.10 0.34 0.29 0.32 6 (4,579’;?4) R5.10 0.36 0.30 0.33
A H AT R R5.11 0.34 0.30 0.32 - R5.11 0.34 0.30 0.32
R5.12 0.34 0.30 0.31 R5.12 0.34 0.30 0.32
R6.1 0.33 0.30 0.31 R6.1 0.34 0.29 0.32
R6.2 0.34 0.30 0.31 R6.2 0.34 0.29 0.31
R6.3 0.34 0.30 0.32 R6.3 0.34 0.30 0.32
FERH 0.34 0.27 0.31 HERH 0.36 0.27 0.31

X1 AR ONEVIZOWTIE, BERL



2 fRKRROKE Mt
[1] FRKE R 2 —EN
(2) BYEF R UHIE R
@ Ttk (A2 —HKER)

£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 SOUN B/ SEH
X e = kil il = 3 & 5l 5 = 5 = 551 - - -
= =] (C) 13.6 15.0 20.5 21.0 24.0 22.8 16.0 14.0 7.0 -1.0 1.2 4.1 24.0 -1.0 13.2
7k =] (C) 14.0 17.5 16.1 16.5 19.0 20.5 18.0 16.0 14.4 14.0 12.5 12.4 20.5 12.4 15.9
— i i (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I REIU AR QREZE O AEWD (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o &8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — 0.001 0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — 0.001 — — <0.001 — — <0.001 0.001 <0.001 <0.001
t F K O 2 O b A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
AN Ofli o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = F (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T oAb AF v Rk Oy T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) — — 0.31 — — 0.28 — — 0.26 — — 0.29 0.31 0.26 0.29
7 v F K W E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — 0.02 — — 0.06 — — 0.08 — — 0.06 0.08 0.02 0.06
| i) e R e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4~ 4 %+ e A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
TA-1,2-YranF L K NNT L A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B 7 n P (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mouwu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
K'Y Y v omr x= F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L.) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
o) ES 73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
7 = = WE [i73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = 7R JL A (mg/L) — — 0.0002 — — 0.0002 — — <0.0001 — — 0.0001 0.0002 <0.0001 0.0002
4 7 = = 43 {73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 m T J noua A K v (mg/L) — — 0.0003 — — 0.0003 — — 0.0003 — — 0.0002 0.0003 0.0002 0.0003
5 e fig (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
D A= I A (mg/L) — — 0.0009 — — 0.0009 — — 0.0006 — — 0.0006 0.0009 0.0006 0.0008
N A = = (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V 7 nowu AKX v (mg/L) — — 0.0003 — — 0.0002 — — 0.0002 — — 0.0002 0.0003 0.0002 0.0002
7 = E N JL A (mg/L) — — 0.0001 — — 0.0001 — — 0.0001 — — 0.0001 0.0001 0.0001 0.0001
B o A7 v F kR (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K O F 0o b A& W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
g K O x o b A& W (mg/L) — — 0.01 — — 0.03 — — <0.01 — — <0.01 0.03 <0.01 0.01
&k . o kb A& W (mg/L.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
TRV AR N EOAAE W (mg/L) — — 6.0 — — 9.8 — — 12 — — 11 12 6.0 9.7
~ v H Uk E O AW (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
o e Y A 7 N (mg/L) 4.6 4.4 3.6 4.7 5.0 4.7 4.9 5.3 5.6 5.7 5.8 5.3 5.8 3.6 5.0
VAN /A Sy N Qi) (mg/L) — — 57 — — 85 — — 130 — — 110 130 57 96
7K i Vb o i (mg/1.) — — 138 — — 200 — — 261 — — 236 261 138 209
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
v - *+ 2 2 Ve (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
2- A F )L A4 YV KR L R F — b (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 <0.005 <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A KR FE TOC o &) (mg/L) <0.1 0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H fiE 7.4 7.4 7.3 6.9 7.4 7.0 7.0 7.4 7.4 7.5 7.2 7.2 7.5 6.9 7.3
S HEL HERL FERL FHERL HERL HERL HEL HERL HERL HERL HERL HERL — — FHERL
5 £ Bl FERL B B FHERL AL L B AL AL FERL Bl — — Bl
@, i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
] £ () 0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 <0.1 <0.1
% o oy e (mg/L.) 0.2 0.3 0.3 0.2 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.3

cAREFEEFOMWHT (B <0.0001) 1%, A CE & FBRER) TCholzZ iR TWET,
AT () BREDOEMERAIRE/RIH B THY, D HIZITMAEEITO/R o=l em R~ TWET,




2 K OKEHRA
[1] FEfRAKE 2 —B W

(2) HMbS R Ol AR A
@O Ttk (A2 K R)

o 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 IO B/ L
T FELUCROZFEDONRAEDY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kY ZE O A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= FH LV kT DI EW (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 w n =— X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
k JL - N (mg/L) — — 0.0001 — — <0.0001 — — <0.0001 — — <0.0001 0.0001 <0.0001 <0.0001
THENLEY (2-=F L ~F L) (mg/L) — — — — — <0.001 — — — — — — — — <0.001
o i} # 173 (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y /7 nmuw 7 kb =FrU L (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
e S A= % (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i3 3 3 — — — — — <0.001 — — — — — — — — <0.001
iz At R {73 (mg/L) — — — — — 8.3 — — — — — — — — 8.3
1,1,1- YV 7 o om = X (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L —t—7 F )L —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O M & (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
oA (7 v 20 7 R ) — — — — — -1.6 — — — — — — — — -1.6
s & 5 # bt (1mLH") 1 2 2 0 2 1 2 0 4 1 0 1 4 0 1
11- ¥ 7 B8 g = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NI VAR ANVEFR(PFOS) & Y

NNVIVERAI S EE(PFOA) (mg/L) — — — — — <0.000005 — — — — — — — — <0.000005
Bk & P ER Jia (MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F E k= (mg/L) — — — — — — — — — — — — — — —
£ ok TR B FEOE K& (mg/L) — — — — — — — — — — — — — — —
b 17 173 ES (mg/L) — — — — — — — — — — — — — — —
4 = # (mg/L) — — — — — — — — — — — — — — —
4 ) > (mg/L) — — — — — — — — — — — — — — —
W o T v (mg/L) — — — — — — — — — — — — — — —
w fiit {2 B (mg/L) — — — — — — — — — — — — — — —
v - JL T 2 (MPN/L) — — — — — — — — — — — — — — —
It & 3 o il (MPN/L) — — — — — — — — — — — — — — —
#} OO M E fH R (MPN/100mL.) — — — — — — — — — — — — — — —
7 v ® = 7 & £ % (mg/L) — — — — — — — — — — — — — — —
7 L v % A (mg/L) — — — — — 22 — — — — — — — — 22
< Y x v % A (mg/L) — — — — — 7.1 — — — — — — — — 7.1
fift L3 A 7 v (mg/L) — — 30 — — 59 — — 82 — — 71 82 30 61
) e iz A % e (mg/L) — — — — — — — — — — — — — — —
MU oo~ m X F v A R (mg/L) — — — — — — — — — — — — — — —
e 7 L 7 ) i3 (mg/L) — — — — — 37 — — — — — — — — 37
G e = i H (mS/m) 27.4 24.0 14.8 20.5 27.7 21.7 22.0 29.0 30.8 34.0 34.8 28.0 34.8 14.8 26.2

CAREFONEE T (B <0.0001) 1E, A (B & T IRMEARN ) CTho7ol&a mRLTWET,
AT ()E REDEMS A RE/RIAH THY ., O BIZIIMEEITOR o722 %R TWVET,




2 KKK OKEKA
[1] FiRKER 2 —EN

(2) EbS M Ol TR R AT
@O JeHtR (XU KGR)

£ 7K H R5.9.5

= ~ = A 2 (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
vz Y X v X 7 oz (mg/L) <0.00001
I )R = (BT L — 1) (mg/L) <0.0001
vy X 7 = v F F v (mg/L) <0.00001
=4 ) 7 ei V) JL 7 (mg/L) <0.0001
= H x H > (mg/L) <0.0001
7 ~ -7 = = JL (mg/L) <0.000005
7 = = k v F F v (MEP) (mg/L) <0.0001
7 = J 7 J ) 7 (BPMQ) (mg/1.) <0.0001
7 - i A A N (mg/L) <0.0001
7 - > F A v (MPP) (mg/L) <0.00005
7 =« v F = — ~ (PAP) (mg/L) <0.00005
v - Vg ~ 7 va N K (mg/L.) <0.0001
7 VA 7 A K (mg/L) <0.0001
7 vl J = — % (mg/L) <0.0001
7 vl N Z 2 (mg/L) <0.0001
7 7 = 7 - % N (mg/L) <0.0001
7 JL 7 D A A (mg/L) <0.0001
7 v F 7 J wm = )b (mg/L) <0.0001
7 = D N R v (mg/L) <0.0001
v = F % Z A (mg/L) <0.00001
7 v ¥ o F = )L (mg/L) <0.0001
7 = = VA N K (mg/L) <0.0001
- = ~ J ) — JL (mg/L) <0.0002
7 = * 7 el R (mg/L) <0.0001
~ J 2 JL (mg/L.) <0.0002
~ N v v = N (mg/L) <0.0001
A - A - (mg/L) <0.0001
N T ey (mg/L) <0.00005
~ N vl > N (mg/L) <0.0001
A A G S A B (mg/L) <0.0001
~ v 7 7 7 )L 7 (mg/L) <0.0001
N7 5y ( R 2a Y ) (mg/L) <0.0001
~ N 7 L + — k (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F 4 v (<= F 2 v ) (mg/L) <0.0001
= A v 7 (MCPP) (mg/L) <0.0001
A v N JL (mg/L) <0.0001
A 4 7 s g JL (mg/L.) <0.0001
A F KX F A v (DMTP) (mg/L) <0.00001
A b I ) A2 bk wm ¥ v (mg/L) <0.0001
A b ) 7 Y N (mg/L) <0.0001
A 7 - A + > ~ (mg/L) <0.0001
A - = = JL (mg/L) <0.0001
E i s — ~ (mg/L) <0.00005

£ 7K H R5.9.5
13- Y "7 w7 " uw ~"° v (DD (mg/L) <0.0001
2,2-DPA( Zd 7 Zi v ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + - - — ~ (mg/L) <0.00005
7 b 7 Y N (mg/L) <0.0001
7 = = AN A (mg/L) <0.00001
7 2 ~ 7 = (mg/L) <0.00005
7 7 7 = — JL (mg/L) <0.0001
A >V F VA 7 %+ N (mg/L) <0.00005
A V % - N ZD 2 (mg/L) <0.00001
A4 Y 7 v H 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F Z v (P (mg/L) <0.0001
A 7 ° 7 = v h VvV N )Ty (mg/L) <0.00001
A4 7 v X v &k A (IBP) (mg/L) <0.0001
A N v / 7 7 N (mg/L) <0.00005
- 2 - o 7 JL v (mg/L) <0.0001
-~ N 7 = v 7 o v 7 R (mg/L) <0.0001
T LU RANL T (RN ) ) (mg/L) <0.0001
A A - B . (mg/L) <0.0001
A X v v M (H B ) (mg/L) <0.0001
) R N | (mg/L) <0.0001
Vol z VA zp A (mg/L) <0.000005
B 7 = v Ak v — JL (mg/L) <0.00005
Vil 1% A ) % ( NAC) (mg/L) <0.0001
Vil N R 7 Z N (mg/L) <0.000003
¥ / 7 7 D v (ACN) (mg/L) <0.00005
X Y 7 v N (mg/L) <0.0001
J 2 JL = N (mg/L) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 m ) = Kk m 7 = > (CNP) (mg/L) <0.000005
J = % [ j ZD A (mg/L) <0.00001
7 m wu X nu = ) (TPN) (mg/L) <0.0001
D4 7 A D4 N (mg/L) <0.00001
v 7 VA ( CYAP) (mg/L) <0.00001
% 7 = N ( DCMU) (mg/L) <0.0001
Y 7 2w X = )L (DBN) (mg/L) <0.0001
Y 7 m g & =% (DDVP) (mg/L.) <0.00005
ALK RL(ZF L F A ARV (mg/L) <0.00001
% 7 7 = % (mg/L) <0.00005
AN - I A A % (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
P A v A ~ Y N (mg/L) <0.0001
DX A ~ = — h (mg/1.) <0.0001
D4 A b~ ) v (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
A 4 A = N (mg/L) <0.0001
7 7 4 = % (mg/L) <0.0001
va v 7 A (mg/L) <0.0002
¥ Zn Y il JL 7 (mg/L) <0.0001
F 4 7 7 X — kN A F (mg/L) <0.0001
7 %+ ~ N i JL 7 (mg/L) <0.0001
> 7 2V o s UV F v (mg/L.) <0.00001
> v 7  J ) 7  (MBPMQ) (mg/L) <0.0001
~ Y 7 = = JL (mg/L) <0.00005
KU 7 w & v ( DEP ) (mg/L) <0.00005
N A . % (mg/L) <0.0001
~ i 7 JL =7 ) > (mg/L) <0.0001
A 7 = 2% 2 N (mg/L) <0.0001




2 KKK OKEKA
[1] FiRKER 2 —EN

(2) EbS M Ol TR R AT

@O iR (XU —HKER)

£ 7K H R5.9.5

7 7 7 - J D4 R (mg/L) <0.0001
KU R ¥ B X vy o F o (mg/L) <0.0001
I\ ) - JL 3 > — JL (mg/L.) <0.0001
+ ~ = 7 = i N (mg/L) <0.0001
= A N v Z A (mg/L) <0.0001
A - A % (mg/L) <0.0001
=4 A ~ = % N (mg/L) <0.0001
v g Y A ) 7 um v = F gL (mg/L) <0.0001
vy 2 Ny A F )L (mg/L) <0.0001
vy kK A X F )L (mg/L) <0.0001
7 7 A ~ = JL (mg/L) <0.0001
7 JL 7 4 Z > =7 (mg/L) <0.0001
7 m X = gL ( DCPA) (mg/L) <0.0001
i = 2% R A (mg/L) <0.00001
7 o s8N )L ¥ vk (BPPS) (mg/L) <0.0001
7 v K ¥ Z o (PHO) (mg/L) <0.0001
7 = A b~ J v (mg/L) <0.0001
N v ¥ A F o T (mg/L) <0.00005
7 e v N (mg/L) <0.00001
R 2 7 ) K (mg/L) <0.0001
£ / J = ~ Zp A (mg/L) <0.00001
U = = N (mg/L) <0.0001

(mg/L)

7 Yy % ¥ A r m v v (mg/L) <0.0001
- 5 4 7 = Y & A (EDDP) (mg/L.) <0.00005
T MY T — (T ma XY — L) (mg/L) <0.00001
i JL 7 = i D K (mg/L) <0.0001
2 o = 7z 7 (mg/L) <0.0001
D4 va o = N (mg/L) <0.0001
> = % 7 = — JL (mg/L) <0.0001
A= - S .~ (mg/L) <0.0001
A= A = A S A % (mg/L) <0.0001
= 7 - J > 4 2 (mg/L) <0.0001
= A - T S A A (mg/L) <0.0001
2 A - S VR A = S (mg/L) <0.0001
7 % ~ = = JL (mg/L) <0.0001
~ N A i K ( SAP) (mg/L) <0.0001
~N v A )N 7 v v A F ) (mg/L) <0.0001
7 + F JL (mg/L) <0.0004
A F o KX A4 A um v (mg/L) <0.0001
kL 7 ok A RXAF L F F I (mg/L) <0.0001
% X VA 4 7 ' N (mg/L) <0.0001
ZA - N S . e (mg/L) <0.0001
)7L -2-7 hF LT F )L (mg/L) <0.0001
= N = % - v (NIP) (mg/L) <0.0001
v o a ¥ N (mg/L) <0.0001
- 4 K E U %  — kK (mg/L) <0.0001

£ 7K H R5.9.5

EPN 7 X >V N (mg/L) <0.00001
A4 J X ¥ F 4 v F X Vv (mg/L) <0.00001
A J 7 = vV K A F F YV v (mg/L) <0.000005
- v K 2 N 7 = — ] (mg/L) <0.0001
c N P - 7 I 7 K (mg/L) <0.000005
J v Jb ¥ U s A F F Vv (mg/L) <0.00001
i A A A . (mg/L) <0.00001
7 . = +twu FF v FFx T (mg/L) <0.00005
MPP % JL Zp ¥ v N (mg/L) <0.00005
MPP 2 JL i N (mg/L) <0.00005
MPP B X >V N (mg/L) <0.00005
MPP #+ &% Y v X JL & ¥ ¥ R (mg/L) <0.00005
MPP 4+ % Y v X JL K vV (mg/L) <0.00005
7 2 I K A F X v v (mg/L.) <0.0001
7 na F F Kk A F F OV v (mg/L) <0.00001
7 v ® J F K F 7 o F (mg/L) <0.0001
~ 7 F F K F v (mg/L) <0.0001
L A A S R - A (mg/L) <0.00001

(mg/L)
7 + v N 7 ) R (mg/L.) <0.0001
A X X 7 a7 Yy R (mg/L) <0.0001
A 7 = D4 Zh N (mg/L) <0.0001
T 7 = A > — )z (mg/L) <0.0001
= 7 Z = 7N 2 (mg/L) <0.0001
- LR JL - 7 N R (mg/L) <0.00001
v o < > JL (mg/L) <0.0001
~ N ~ X VA > NE (mg/L.) <0.0002
7D A = N (mg/L) <0.00005
A ~ 7 J = — Ju (mg/L) <0.0001
(mg/L)

7 v X v T v S AT (mg/L) <0.0001
7 A b~ ) N (mg/L) <0.0001
A 7 ~ N 7 ~ K (mg/L) <0.0001
A < > 2 JL - o N (mg/L) <0.0001
v = =22 F Y = P (mg/L) <0.0001
-~ r ¥F ¥ A ) 7 1 v (mg/L) <0.0001
T I ~ v VA = N (mg/L) <0.0001
T x ¥ v 7 ) X ) (mg/L) <0.0001
%+ X VA N JL (mg/L) <0.0001
X ¥ v Kk v S T F (mg/L) <0.0001
J = ¥ 7 = Y N (mg/L) <0.0001
g v 2~ 7 = ) ¥V K (mg/L) <0.0001
7 o g X — )L ¥ X F )L (TCTP) (mg/L) <0.0001
J v v U kK A X F ) (mg/L) <0.0001
Y 7 m 7 = v F # v (ECP) (mg/1.) <0.00005
Y J = A 4 N (mg/L) <0.0001
Yy 7 v A X oowa oy T (mg/L) <0.0001
v J 2 JL 7 = N (mg/L) <0.0001
% / 7 7 7 v (mg/L) <0.0001
Yy 7 x /) =2 F J  — b (mg/L) <0.0001
2R A R N S~ S = S (mg/L) <0.0001
DA - A | % (mg/L) <0.0001
DA 7 = % = % (mg/L) <0.0001
v A = + >/ — JL (mg/1.) <0.0001
X F L E M NS (mg/L) <0.0001
v A = ~ 1% — b (mg/L) <0.00001
A A A A A (mg/L) <0.0001
D4 > A A ) v (mg/L) <0.0001
7 7 J = 7 ) K (mg/L) <0.0001
7 7 A ~ X va A (mg/L.) <0.0001
7 % JL VA 2 K (mg/L) <0.0001
> hF 7 o L ¥ v ik A (CVMP) (mg/L) <0.0001
7 N 7 = F = )L (mg/L) <0.0001




2 fRKRROKE Mt
[1] FRKE R 2 —EN
(2) BYEF R UHIEMRA
@ Al G /AR KRS R)

£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.19 R6.3.5 SOUN B/ SEH
X e = [l i = 3 & 5l 5 = 5 551 551 - - -
= =] (C) 15.8 19.0 20.0 22.0 25.0 25.7 16.5 16.7 5.8 5.5 14.0 3.7 25.7 3.7 15.8
7k =] (C) 13.1 15.0 15.6 18.0 19.5 19.9 20.0 16.2 13.0 10.0 9.0 9.7 20.0 9.0 14.9
— i i (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN 1 (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I REIU AR QREZE O AEWD (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o &8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
t F K O 2 O b A& W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
AN Ofli o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = F (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T A A A e O A T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
YR ORE B OHE K OO RY MR RE & H (mg/L) — — 0.41 — — 0.41 — — 0.41 — — 0.42 0.42 0.41 0.41
7 v F K W E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
| i) e R e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4~ 4 %+ e A N (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
TA-1,2-YranF L K NNT L A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B 7 n P (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mouwu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
K'Y Y v omr x= F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L.) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
o) ES 73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
7 = = WE [i73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = 7R JL A (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
4 7 = = 43 {73 (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 m T J noua A K v (mg/L) — — 0.0003 — — 0.0002 — — 0.0003 — — 0.0002 0.0003 0.0002 0.0003
5 e fig (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
D A= I A (mg/L) — — 0.0006 — — 0.0005 — — 0.0005 — — 0.0005 0.0006 0.0005 0.0005
N A = (=S (O (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V J vowu A X v (mg/L) — — 0.0002 — — 0.0002 — — 0.0001 — — 0.0001 0.0002 0.0001 0.0002
7 = E Z JL A (mg/1.) — — 0.0002 — — 0.0001 — — 0.0001 — — 0.0001 0.0002 0.0001 0.0001
K v A 7 A F B K (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
o &K O F 0o b A& W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TILVI=g Ak OXZF DOl EW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% X O o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
&k . o kb A& W (mg/L.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
TRV AR N EOAAE W (mg/L) — — 5.7 — — 5.6 — — 5.6 — — 5.6 5.7 5.6 5.6
~ v H Uk E O AW (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
o e Y A 7 N (mg/L) 3.5 3.5 3.6 3.5 3.5 3.4 3.5 3.5 3.6 3.6 3.6 3.8 3.8 3.4 3.6
VA RN SN Q) (mg/L) — — 65 — — 65 — — 65 — — 64 65 64 65
7K i Vb o W (mg/1.) — — 127 — — 128 — — 121 — — 128 128 121 126
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
v - *+ 2 2 Ve (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
2- A F )L A4 YV KR L R F — b (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 <0.005 <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL ¥A (mg/L) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (& A KR FE TOC o &) (mg/L) <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
p H fiE 7.8 7.8 7.8 7.8 7.8 7.9 7.8 7.8 7.8 7.9 7.8 7.8 7.9 7.8 7.8
S HEL HERL FERL FHERL HERL HERL HEL HERL HERL HERL HERL HERL — — FHERL
5 £ Bl FERL B B FHERL AL L B AL AL FERL Bl — — Bl
@, i () <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
] £ () 0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1 <0.1 0.1 0.1 0.1 0.1 0.1 <0.1 <0.1
% o oy e (mg/L.) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3

cAREFEEFOMWHT (B <0.0001) 1%, A CE & FBRER) TCholzZ iR TWET,
AT () E RAEDOEMN A RE/RIAH THY ., ZO BIZIIMEEITDOR o722 H R TWVET,




2 K OKEHRA
[1] FEfRAKE 2 —B W

(2) HMbS R Ol AR A
@ i) (i /AR KRS R)

B 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.19 R6.3.5 IO B/ L
T FELURERREONEW (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kY ZE O A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= Fr L Kk X E DI E W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 w n =— X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
k JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
THENLEY (2-=F L ~F L) (mg/L) — — — — — <0.001 — — — — — — — — <0.001
o s # 173 (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y /7 nmuw 7 kb =FrU L (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
e S A= % (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i3 3 3 — — — — — <0.001 — — — — — — — — <0.001
iz At fR {73 (mg/L) — — — — — 1.1 — — — — — — — — 1.1
L1,1- Y 7 5 o x X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L —t—7 F )L —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O M & (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 1
oA (7 v 20 7 R ) — — — — — -0.6 — — — — — — — — -0.6
{8 I g = il (1mLH) 7 6 10 5 7 22 9 5 4 2 8 7 22 2 8
11- ¥ 7 B8 g = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
N VI NVEaE TRy AV Ry R (PFOS) B TR
NSV T VA wr ks v BB (PFOA) (mg/L) — — — — — <0.000005 — — — — — — — — <0.000005
Bk & P ER Jia (MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F E k= (mg/L) — — — — — — — — — — — — — — —
£ ok TR B FEOE K& (mg/L) — — — — — — — — — — — — — — —
b 17 173 ES (mg/L) — — — — — — — — — — — — — — —
4 = # (mg/L) — — — — — — — — — — — — — — —
4 ) > (mg/L) — — — — — — — — — — — — — — —
W o T v (mg/L) — — — — — — — — — — — — — — —
w fiit {2 B (mg/L) — — — — — — — — — — — — — — —
v - JL > 2 (MPN/L) — — — — — — — — — — — — — — —
I = 3 Ea el (MPN/L) — — — — — — — — — — — — — — —
#w OO M E fH O ER (MPN/100mL.) — — — — — — — — — — — — — — —
Ty ® = 7 H % K (mg/L) — — — — — — — — — — — — — — —
Vi JL > 7 A (mg/L) — — — — — 20 — — — — — — — — 20
~ 7 e > v UN (mg/L) — — — — — 3.7 — — — — — — — — 3.7
fint 73 A % N (mg/L) — — 22 — — 20 — — 20 — — 20 22 20 21
. S G S (mg/L) — — - — — - — — — — — — — — —
U N v A X v A R RE (mg/L) — — — — — — — — — — — — — — —
B 7 JL 7 ) iy (mg/L) — — — — — 49 — — — — — — — — 49
E = = i R (mS/m) 16.0 15.8 15.7 15.5 15.6 15.2 15.1 14.9 14.9 15.9 16.2 15.9 16.2 14.9 15.6

cARFEEOMWHT (B <0.0001) 1%, A CE & T BRMER) CholzZlta R TWET,
AT ()T, REOEME S FHE/RIHE THY ., 0 HIZIIMEEI TR -T2 R TWET,




2 KKK OKEKA
[1] FiRKER 2 —EN

(2) EAbS2 M OSHlTR R AT
@ A (i AEK S R)

£ 7K H R5.9.5

= ~ = A 2 (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
vz Y X v X 7 oz (mg/L) <0.00001
I )R = (BT L — 1) (mg/L) <0.0001
vy X 7 = v F F v (mg/L) <0.00001
=4 ) 7 ei V) JL 7 (mg/L) <0.0001
= H x H > (mg/L) <0.0001
7 ~ -7 = = JL (mg/L) <0.000005
7 = = k v F F v (MEP) (mg/L) <0.0001
7 = J 7 J ) 7 (BPMQ) (mg/1.) <0.0001
7 - i A A N (mg/L) <0.0001
7 - > F A v (MPP) (mg/L) <0.00005
7 =« v F = — ~ (PAP) (mg/L) <0.00005
v - Vg ~ 7 va N K (mg/L.) <0.0001
7 VA 7 A K (mg/L) <0.0001
7 vl J = — % (mg/L) <0.0001
7 vl N Z 2 (mg/L) <0.0001
7 7 = 7 - % N (mg/L) <0.0001
7 JL 7 D A A (mg/L) <0.0001
7 v F 7 J wm = )b (mg/L) <0.0001
7 = D N R v (mg/L) <0.0001
v = F % Z A (mg/L) <0.00001
7 v ¥ o F = )L (mg/L) <0.0001
7 = = VA N K (mg/L) <0.0001
- = ~ J ) — JL (mg/L) <0.0002
7 = * 7 el R (mg/L) <0.0001
~ J 2 JL (mg/L.) <0.0002
~ N v v = N (mg/L) <0.0001
A - A - (mg/L) <0.0001
N T ey (mg/L) <0.00005
~ N vl > N (mg/L) <0.0001
A A G S A B (mg/L) <0.0001
~ v 7 7 7 )L 7 (mg/L) <0.0001
N7 5y ( R 2a Y ) (mg/L) <0.0001
~ N 7 L + — k (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F 4 v (<= F 2 v ) (mg/L) <0.0001
= A v 7 (MCPP) (mg/L) <0.0001
A v N JL (mg/L) <0.0001
A 4 7 s g JL (mg/L.) <0.0001
A F KX F A v (DMTP) (mg/L) <0.00001
A b I ) A2 bk wm ¥ v (mg/L) <0.0001
A b ) 7 Y N (mg/L) <0.0001
A 7 - A + > ~ (mg/L) <0.0001
A - = = JL (mg/L) <0.0001
E i s — ~ (mg/L) <0.00005

£ 7K H R5.9.5
13- Y "7 w7 " uw ~"° v (DD (mg/L) <0.0001
2,2-DPA( Zd 7 Zi v ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 v = 7 N (mg/L) <0.0001
7 + - - — ~ (mg/L) <0.00005
7 b 7 Y N (mg/L) <0.0001
7 = = AN A (mg/L) <0.00001
7 2 ~ 7 = (mg/L) <0.00005
7 7 7 = — JL (mg/L) <0.0001
A >V F VA 7 %+ N (mg/L) <0.00005
A V % - N ZD 2 (mg/L) <0.00001
A4 Y 7 v H 7  (MIPC) (mg/L) <0.0001
A4 Y 7 v F F Z v (P (mg/L) <0.0001
A 7 ° 7 = v h VvV N )Ty (mg/L) <0.00001
A4 7 v X v &k A (IBP) (mg/L) <0.0001
A N v / 7 7 N (mg/L) <0.00005
- 2 - o 7 JL v (mg/L) <0.0001
-~ N 7 = v 7 o v 7 R (mg/L) <0.0001
T LU RANL T (RN ) ) (mg/L) <0.0001
A A - B . (mg/L) <0.0001
A X v v M (H B ) (mg/L) <0.0001
) R N | (mg/L) <0.0001
Vol z VA zp A (mg/L) <0.000005
B 7 = v Ak v — JL (mg/L) <0.00005
Vil 1% A ) % ( NAC) (mg/L) <0.0001
Vil N R 7 Z N (mg/L) <0.000003
¥ / 7 7 D v (ACN) (mg/L) <0.00005
X Y 7 v N (mg/L) <0.0001
J 2 JL = N (mg/L) <0.0001
7 = A 7 = > 7 (mg/L) <0.0001
7 m ) = Kk m 7 = > (CNP) (mg/L) <0.000005
J = % [ j ZD A (mg/L) <0.00001
7 m wu X nu = ) (TPN) (mg/L) <0.0001
D4 7 A D4 N (mg/L) <0.00001
v 7 VA ( CYAP) (mg/L) <0.00001
% 7 = N ( DCMU) (mg/L) <0.0001
Y 7 2w X = )L (DBN) (mg/L) <0.0001
Y 7 m g & =% (DDVP) (mg/L.) <0.00005
ALK RL(ZF L F A ARV (mg/L) <0.00001
% 7 7 = % (mg/L) <0.00005
AN - I A A % (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
P A v A ~ Y N (mg/L) <0.0001
DX A ~ = — h (mg/1.) <0.0001
D4 A b~ ) v (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
A 4 A = N (mg/L) <0.0001
7 7 4 = % (mg/L) <0.0001
va v 7 A (mg/L) <0.0002
¥ Zn Y il JL 7 (mg/L) <0.0001
F 4 7 7 X — kN A F (mg/L) <0.0001
7 %+ ~ N i JL 7 (mg/L) <0.0001
> 7 2V o s UV F v (mg/L.) <0.00001
> v 7  J ) 7  (MBPMQ) (mg/L) <0.0001
~ Y 7 = = JL (mg/L) <0.00005
KU 7 w & v ( DEP ) (mg/L) <0.00005
N A . % (mg/L) <0.0001
~ i 7 JL =7 ) > (mg/L) <0.0001
A 7 = 2% 2 N (mg/L) <0.0001




2 KKK OKEKA
[1] FiRKER 2 —EN
(2) BYLZ R OHFE R
@ MR (ARG KRS R)

£ 7K H R5.9.5

7 7 7 - J D4 R (mg/L) <0.0001
KU R ¥ B X vy o F o (mg/L) <0.0001
I\ ) - JL 3 > — JL (mg/L.) <0.0001
+ ~ = 7 = i N (mg/L) <0.0001
= A N v Z A (mg/L) <0.0001
A - A % (mg/L) <0.0001
=4 A ~ = % N (mg/L) <0.0001
v g Y A ) 7 um v = F gL (mg/L) <0.0001
vy 2 Ny A F )L (mg/L) <0.0001
vy kK A X F )L (mg/L) <0.0001
7 7 A ~ = JL (mg/L) <0.0001
7 JL 7 4 Z > =7 (mg/L) <0.0001
7 m X = gL ( DCPA) (mg/L) <0.0001
i = 2% R A (mg/L) <0.00001
7 o s8N )L ¥ vk (BPPS) (mg/L) <0.0001
7 v K ¥ Z o (PHO) (mg/L) <0.0001
7 = A b~ J v (mg/L) <0.0001
N v ¥ A F o T (mg/L) <0.00005
7 e v N (mg/L) <0.00001
R 2 7 ) K (mg/L) <0.0001
£ / J = ~ Zp A (mg/L) <0.00001
U = = N (mg/L) <0.0001

(mg/L)

7 Yy % ¥ A r m v v (mg/L) <0.0001
- 5 4 7 = Y & A (EDDP) (mg/L.) <0.00005
T MY T — (T ma XY — L) (mg/L) <0.00001
i JL 7 = i D K (mg/L) <0.0001
2 o = 7z 7 (mg/L) <0.0001
D4 va o = N (mg/L) <0.0001
> = % 7 = — JL (mg/L) <0.0001
A= - S .~ (mg/L) <0.0001
A= A = A S A % (mg/L) <0.0001
= 7 - J > 4 2 (mg/L) <0.0001
= A - T S A A (mg/L) <0.0001
2 A - S VR A = S (mg/L) <0.0001
7 % ~ = = JL (mg/L) <0.0001
~ N A i K ( SAP) (mg/L) <0.0001
~N v A )N 7 v v A F ) (mg/L) <0.0001
7 + F JL (mg/L) <0.0004
A F o KX A4 A um v (mg/L) <0.0001
kL 7 ok A RXAF L F F I (mg/L) <0.0001
% X VA 4 7 ' N (mg/L) <0.0001
ZA - N S . e (mg/L) <0.0001
)7L -2-7 hF LT F )L (mg/L) <0.0001
= N = % - v (NIP) (mg/L) <0.0001
v o a ¥ N (mg/L) <0.0001
- 4 K E U %  — kK (mg/L) <0.0001

£ 7K H R5.9.5

EPN 7 X >V N (mg/L) <0.00001
A4 J X ¥ F 4 v F X Vv (mg/L) <0.00001
A J 7 = vV K A F F YV v (mg/L) <0.000005
- v K 2 N 7 = — ] (mg/L) <0.0001
c N P - 7 I 7 K (mg/L) <0.000005
J v Jb ¥ U s A F F Vv (mg/L) <0.00001
i A A A . (mg/L) <0.00001
7 . = +twu FF v FFx T (mg/L) <0.00005
MPP % JL Zp ¥ v N (mg/L) <0.00005
MPP 2 JL i N (mg/L) <0.00005
MPP B X >V N (mg/L) <0.00005
MPP #+ &% Y v X JL & ¥ ¥ R (mg/L) <0.00005
MPP 4+ % Y v X JL K vV (mg/L) <0.00005
7 2 I K A F X v v (mg/L.) <0.0001
7 v F F K A F X vV v (mg/L) <0.00001
7 v ¥ 7 F K F 7 v E (mg/L) <0.0001
~ 7 F F K F v (mg/L) <0.0001
L A A S R - A (mg/L) <0.00001

(mg/L)
7 + v N 7 ) R (mg/L.) <0.0001
A X X 7 a7 Yy R (mg/L) <0.0001
A 7 = D4 Zh N (mg/L) <0.0001
T 7 = A > — )z (mg/L) <0.0001
= 7 Z = 7N 2 (mg/L) <0.0001
- LR JL - 7 N R (mg/L) <0.00001
v o < > JL (mg/L) <0.0001
~ N ~ X VA > NE (mg/L.) <0.0002
7D A = N (mg/L) <0.00005
A ~ 7 J = — Ju (mg/L) <0.0001
(mg/L)

7 v X v T v S AT (mg/L) <0.0001
7 A b~ ) N (mg/L) <0.0001
A 7 ~ N 7 ~ K (mg/L) <0.0001
A < > 2 JL - o N (mg/L) <0.0001
v = =22 F Y = P (mg/L) <0.0001
-~ r ¥F ¥ A ) 7 1 v (mg/L) <0.0001
T b ~ N A = K (mg/L) <0.0001
T x ¥ v 7 ) X ) (mg/L) <0.0001
%+ X VA N JL (mg/L) <0.0001
X ¥ v Kk v S T F (mg/L) <0.0001
J = ¥ 7 = Y N (mg/L) <0.0001
g v 2~ 7 = ) ¥V K (mg/L) <0.0001
7 o g X — )L ¥ X F )L (TCTP) (mg/L) <0.0001
J v v U kK A X F ) (mg/L) <0.0001
Y 7 m 7 = v F # v (ECP) (mg/1.) <0.00005
Y J = A 4 N (mg/L) <0.0001
Yy 7 v A X oowa oy T (mg/L) <0.0001
v J 2 JL 7 = N (mg/L) <0.0001
% / 7 7 7 v (mg/L) <0.0001
Yy 7 x /) =2 F J  — b (mg/L) <0.0001
A R A N = (mg/L) <0.0001
DA - A | % (mg/L) <0.0001
DA 7 = % = % (mg/L) <0.0001
v A = + >/ — JL (mg/1.) <0.0001
X F L E M NS (mg/L) <0.0001
v A = ~ 1% — b (mg/L) <0.00001
A A A A A (mg/L) <0.0001
D4 > A A ) v (mg/L) <0.0001
7 7 J = 7 ) K (mg/L) <0.0001
7 7 A ~ X va A (mg/L.) <0.0001
7 % JL VA 2 K (mg/L) <0.0001
> hF 7 o L ¥ v ik A (CVMP) (mg/L) <0.0001
7 N 7 = F = )L (mg/L) <0.0001




2 KK KEHRA
[1] FRAEEZ—&N
(2) B Ol F R
@ R OKEBKJER)

£ 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R6.1.17 R6.2.7 R6.3.5 S OUN B/ SLH
PN e = i il = 3 & 5l 5 = 5 = 551 - - -
= =) (C) 17.5 17.0 23.9 24.0 27.0 27.0 18.0 16.5 8.8 7.0 2.0 5.9 27.0 2.0 16.2
7K =] (C) 16.0 18.5 19.1 21.5 24.0 23.7 23.0 19.0 16.2 13.5 13.0 14.1 24.0 13.0 18.5
— i Al (1mLH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PN 1 (MPN/100mL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HEIT AKX ZEOIREWY (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
KB K O 2 o {8 & W (mg/L) — — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 <0.00005 <0.00005 <0.00005
L Kk N E O E W (mg/L.) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
th kK O o b & W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
tE F K O 2 O b A& W (mg/L) — — 0.002 — — 0.002 — — 0.002 — — 0.002 0.002 0.002 0.002
AN Ofi o v A b A W (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i fid fig: fe = E3 (mg/L) — — <0.004 — — <0.004 — — <0.004 — — <0.004 <0.004 <0.004 <0.004
T oAb AF v Rk Oy T v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i MR RE 2R K VR R MR RE B R (mg/L) — — 0.53 — — 0.51 — — 0.51 — — 0.52 0.53 0.51 0.52
7 v F K WY E O A& W (mg/L) — — <0.08 — — <0.08 — — <0.08 — — <0.08 <0.08 <0.08 <0.08
v F K O E O AW (mg/L) — — 0.07 — — 0.08 — — 0.08 — — 0.08 0.08 0.07 0.08
Py i) 1t 7% e (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
1,4 4 %+ oS a v (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
VA-1,2-v/anTF L R ORI A
12- ¥ 7 m g x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
Y 7 n = I A (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
F N % Z/ mowu = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
KU /7 B owm o x F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
~ v + N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
i) F [i73 (mg/L) <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06
7 = = W fig (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 = = R JL UN (mg/L) — — 0.0001 — — 0.0001 — — <0.0001 — — <0.0001 0.0001 <0.0001 <0.0001
v 4 = = e fig: (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
Y 7 v T 7 o oua A H o (mg/L) — — 0.0005 — — 0.0005 — — 0.0004 — — 0.0004 0.0005 0.0004 0.0005
B = i3 (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
2 S N ) N = S S - Y2 (mg/L) — — 0.0012 — — 0.0013 — — 0.0009 — — 0.0008 0.0013 0.0008 0.0011
N A = = I (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
7 v £ ¥V J nowu A K v (mg/L) — — 0.0003 — — 0.0003 — — 0.0002 — — 0.0002 0.0003 0.0002 0.0003
7 = E Z JL A (mg/L.) — — 0.0002 — — 0.0002 — — 0.0002 — — 0.0002 0.0002 0.0002 0.0002
R A . 2 A (mg/L) — — <0.002 — — <0.002 — — <0.002 — — <0.002 <0.002 <0.002 <0.002
oM & O F o b A W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
TNI=g LR OZ0IlEW (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
% kK O o b A& W (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
M &k O = O b A& W (mg/1.) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
T I AR ORYZEONAEDY (mg/L) — — 13 — — 13 — — 13 — — 13 13 13 13
~ v H kD E O E W (mg/L) — — <0.005 — — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
i) e Y A % N (mg/L) 7.2 7.3 7.4 7.6 7.3 7.3 7.4 7.3 7.4 7.4 7.4 7.5 7.6 7.2 7.4
VAN /A Sy N QT ) (mg/L) — — 110 — — 110 — — 110 — — 110 110 110 110
75 s Jbs e i (mg/1) — — 210 — — 219 — — 216 — — 217 219 210 216
e A4 F v K om & M A (mg/L) — — <0.01 — — <0.01 — — <0.01 — — <0.01 <0.01 <0.01 <0.01
v - *+ 2 2 e (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
2- A F )L A4 YV KR )LV R F — )b (mg/L) — — — — — <0.000001 — — — — — — — — <0.000001
¥ A4 A Fom & M A (mg/L) — — <0.005 — <0.005 — — <0.005 — — <0.005 <0.005 <0.005 <0.005
7 - J — JL FH (mg/L.) — — <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 <0.0005 <0.0005 <0.0005
AW (2 A KR % TOC 0 &) (mg/L) <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1 0.1 0.1 0.1 <0.1
D H fiE 7.5 7.4 7.5 7.4 7.6 7.5 7.4 7.4 7.4 7.6 7.4 7.3 7.6 7.3 7.5
S AL AL B B L HHERL AL AL L AL AL Bl — — BERL
B X L HERL FHERL FHERL HERL HHERL FEIL AL L L B L — — L
=) = (J£) <0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
V) 3 (%) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
% H oy F# (mg/L.) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3

A OAWTEEE (B <0.0001) 1%, AR (E & FERIECRIE) Tho7Z&a Rl ThET,
NAT () IE REDOEMEATREZREH THY, T D B AE LT 282 RLTHET,
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o 7K H R5.4.12 R5.5.10 R5.6.13 R5.7.5 R5.8.1 R5.9.5 R5.10.4 R5.11.8 R5.12.5 R5.1.18 R5.2.8 R5.3.7 IO e/ L

T FELURERXEONEW (mg/L) — — <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 <0.0003 <0.0003 <0.0003
v 7 v kO ZE O/ A W (mg/L) — — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 <0.0002 <0.0002 <0.0002
= F NV kT OIlE DY (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
12- ¥ 7 w n =— X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
k JL - N (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
THENLEY (2-=F L ~F ) (mg/L) — — — — — <0.001 — — — — — — — — <0.001
i i} # iz (mg/L) — — <0.06 — — <0.06 — — <0.06 — — <0.06 <0.06 <0.06 <0.06
Y /7 muw 7 kb =FrU (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
e A= % (mg/L) — — <0.001 — — <0.001 — — <0.001 — — <0.001 <0.001 <0.001 <0.001
i3 3 3 — — — — — <0.001 — — — — — — — — <0.001
iz At 7% {73 (mg/L) — — — — — 5.6 — — — — — — — — 5.6
L,1- Y 7 g 8w x X v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
AF )L —t—7 F )L —F )L (MTBE) (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
B O M & (T O N ) <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
oA (7 v 20 7 R ) — — — — — -0.6 — — — — — — — — -0.6
1E I g = Al (1mLH) 9 9 24 10 17 25 10 6 6 2 4 3 25 2 10
11- ¥ 7/ B g = F L v (mg/L) — — <0.0001 — — <0.0001 — — <0.0001 — — <0.0001 <0.0001 <0.0001 <0.0001
NVTINVEa xR AV R R (PFOS) B TR

NS VT VA e ks v BB (PFOA) (mg/L) — — — — — <0.000005 — — — — — — — — <0.000005
3 & P ER Jie MPN/100mL) — — — — — — — — — — — — — — —
b % 8 B F E k= (mg/L) — — — — — — — — — — — — — — —
£ ok T B OFEOE K& (mg/L) — — — — — — — — — — — — — — —
b 17 173 ES (mg/L) — — — — — — — — — — — — — — —
4 = # (mg/L) — — — — — — — — — — — — — — —
4 ) > (mg/L) — — — — — — — — — — — — — — —
W o =~ v (mg/L) — — — — — — — — — — — — — — —
w fiit {2 B (mg/L) — — — — — — — — — — — — — — —
v - JL T 2 (MPN/L) — — — — — — — — — — — — — — —
It & 3 o fe (MPN/L) — — — — — — — — — — — — — — —
OO M E fH Bk MPN/100mL) — — — — — — — — — — — — — — —
7 v ® = 7 & £ % (mg/L) — — — — — — — — — - — — — — —
7 L 3 % A (mg/L) — — — — — 31 — — — — — — — — 31
< 7 x v % A (mg/L) — — — — — 9.1 — — — — — — — — 9.1
fift L3 A 7 v (mg/L) — — 48 — — 49 — — 49 — — 49 49 48 49
y o 4 o (mg/L) — — - — — - — — - - - - — — —
MU oo~ m X H v A R (mg/L) — — — — — — — — — — — — — — —
e T L 7 ) ¥ (mg/L) — — — — — 79 — — — - - — — — (&
G e = g H (mS/m) 28.3 27.9 27.5 28.0 28.7 28.3 28.1 28.1 27.9 29.5 29.5 29.1 29.5 27.5 28.4

RSO NEE T (B <0.0001) 1E, A (8 & T IRMEARN ) Cho7eléa RLTWET,
AT () RAEDEMD A RE/RIAH THY ., ZO BIZIIMEEITOR o722 H R TWVET,
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£ 7K H R5.9.5

=4 ~ = A A (mg/L) <0.000005
=4 5 7 = = JL (mg/L) <0.0001
| A A S S A S (mg/L) <0.00001
v )R =k (BT L — k) (mg/L) <0.0001
vy K 7 = v F F v (mg/L.) <0.00001
= ) -7 7 7 JL -7 (mg/L) <0.0001
= H X H > (mg/L) <0.0001
7 ~ - = = I (mg/L) <0.000005
7 x = bk v F F v (MEP) (mg/L) <0.0001
7 = ) 7 H ) 7 (BPMO) (mg/L) <0.0001
7 - i UA >V N (mg/L) <0.0001
7 = v F F v (MPP) (mg/L) <0.00005
7 = v b = — b (PAP) (mg/L) <0.00005
7 . v ~ Z ¥ I F (mg/L) <0.0001
7 A 7 A K (mg/L) <0.0001
7 v J = — JL (mg/L) <0.0001
7 b N Z A (mg/L) <0.0001
7 7 7 - % N (mg/L) <0.0001
7 % 7 D4 a A (mg/L) <0.0001
7 v F 7 7 m  — ) (mg/1.) <0.0001
7 = D4 2 N v (mg/L) <0.0001
A = F %+ 7 2 (mg/L) <0.00001
7 v ¥ a F = )L (mg/L) <0.0001
7 = = Vi 2 K (mg/L) <0.0001
- = ~ 5 ' — % (mg/L.) <0.0002
7 = * 7 7 K (mg/L) <0.0001
~ 3 JL (mg/L) <0.0002
~ N 4 7 = N (mg/L) <0.0001
A A A= (mg/L) <0.0001
N ) 7 ey (mg/L) <0.00005
~ N v > N (mg/L) <0.0001
A A G S S B (mg/L) <0.0001
~ v 7 7 i JL 7 (mg/L) <0.0001
N7 5 (R 2a Y ) (mg/L) <0.0001
~ v 7 |2 + — ~ (mg/L) <0.0001
i A F 7 + — ~ (mg/L) <0.00005
~ 7 F F v (= TV ) (mg/L) <0.0001
A a2 7 v v 7  (MCPP) (mg/L) <0.0001
A v D JL (mg/L) <0.0001
A 4 7 X > JL (mg/L.) <0.0001
A F KX F  F v  (DMTP) (mg/L) <0.00001
A X R F = | N (mg/L) <0.0001
A ~ Y 7 % N (mg/L) <0.0001
A 7 - + + > b (mg/L) <0.0001
A - = = I (mg/L) <0.0001
= i x — ~ (mg/L) <0.00005

£ 7K H R5.9.5
13- % "7 ww 7 " v~y (DD (mg/L) <0.0001
2,2-DPA( vl 7 Zi ~ ) (mg/L) <0.0004
2,4-D(2,4-PA) (mg/L) <0.0001
EPN (mg/L) <0.00001
MCPA (mg/L.) <0.00005
7 g E 7 A (mg/L) <0.0001
7 + 7 - — b~ (mg/L) <0.00005
7 ~ 7 D4 N (mg/L) <0.0001
7 = = R 2 (mg/L) <0.00001
7 3 ~ 5 z (mg/L) <0.00005
7 7 J = — JL (mg/L) <0.0001
A V ¥ VA el 7 v (mg/L) <0.00005
A v % - N 7z 2 (mg/L) <0.00001
A4 Y 7 v H 7 (MIPC) (mg/L) <0.0001
A4 Y 7 v F F 7 v (P (mg/1.) <0.0001
£ 7 ° 7 = vV NV A y v (mg/L) <0.00001
A4 7 m X v 5k A (IBP) (mg/L) <0.0001
A N o J 7 7 N (mg/L) <0.00005
- A 7 = Vi % 7 (mg/L) <0.0001
- N 7 = v 7 m v 7 R (mg/L.) <0.0001
TV RANNT g (R V) (mg/L) <0.0001
r x Y Yy v AR v (mg/L) <0.0001
4 X ¥ v # (A ¥ O ) (mg/L) <0.0001
4+ U ¥ X F m B v (mg/L) <0.0001
v 2 VA zD 2 (mg/L) <0.000005
H 7 = v Ak v — )L (mg/1.) <0.00005
7 A i JL ( NAC) (mg/L) <0.0001
v JL ZD 7 7 v (mg/1.) <0.000003
¥ J 7 7 D >~ (ACN) (mg/L) <0.00005
ES ¥ 7 v N (mg/L) <0.0001
7 2 % = N (mg/L) <0.0001
J = A 7 = > 7 (mg/L) <0.0001
7 v ) = k v 7 = » (CNP) (mg/L) <0.000005
J = JL = Y ZD A (mg/L) <0.00001
7 wm m X m = ) (TPN) (mg/L) <0.0001
D4 7 A 4 N (mg/L) <0.00001
e 7 / AR ( CYAP) (mg/L) <0.00001
Y v = N ( DCMU) (mg/L) <0.0001
> 7 2w N = L  (DBN) (mg/L) <0.0001
Y s wm R % (DDVP) (mg/L) <0.00005
CANLFKFI N (ZFALFFALY) (mg/L) <0.00001
Y 7 %+ = JL (mg/L) <0.00005
oo o kK v ST F (mg/L) <0.00005
3 ~ % N (CAT) (mg/L) <0.00001
4 A o A B ) > (mg/L.) <0.0001
D A I =T — B (mg/L.) <0.0001
D4 A b~ J N (mg/L) <0.0001
vl A 7 Y J v (mg/L) <0.00001
Zd A I = N (mg/L) <0.0001
T 7 % = JL (mg/L) <0.0001
A v 7 A (mg/L) <0.0002
T 7 % 7 % 7 (mg/L) <0.0001
F * 7 7 X — K A F (mg/L) <0.0001
I % ~ v Vil JL 7 (mg/L) <0.0001
> 7 Uy gk U F v (mg/L.) <0.00001
> v 7  H v 7  (MBPMC) (mg/L) <0.0001
b~ ) J = =4 JL (mg/L) <0.00005
KUy 7 wm g & v ( DEP ) (mg/L) <0.00005
N A . 2 (mg/L) <0.0001
~ i 7 JV 7 ) > (mg/L) <0.0001
+ A = 23 2 K (mg/L) <0.0001
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7 7 7 - / 4 R (mg/L) <0.0001
K'Y ox ¥ ¥ R v o F o (mg/L) <0.0001
Ky z7 oL 2 Y — )L (mg/L) <0.0001
A 7 = 7 = ) K (mg/L) <0.0001
= 7 v = 5 A (mg/L) <0.0001
A A N . % (mg/L) <0.0001
=4 A ~ = % N (mg/L) <0.0001
vz v 2 v 7 o v x F ) (mg/L) <0.0001
v 2 N v J XX F J (mg/L) <0.0001
vy gk R A F L (mg/L) <0.0001
7 7 A b~ = JL (mg/L) <0.0001
7 % 7 % Z > 7 (mg/L) <0.0001
7w X = L ( DCPA) (mg/1.) <0.0001
i i A 7R A (mg/L.) <0.00001
7 v 8 L X > b (BPPS) (mg/L) <0.0001
72 = B N * A2 )L (PHO) (mg/L) <0.0001
7 = A b~ J v (mg/L) <0.0001
X v ¥ A4 AF o T (mg/L) <0.00005
Zp X > N (mg/L) <0.00001
R 2 7 Y R (mg/1.) <0.0001
* J J = ~ Z) A (mg/L) <0.00001
Y = A = N (mg/L) <0.0001

(mg/L)

7 Y X ¥ A kb m B v (mg/L) <0.0001
- 5 4 7 = v i A (EDDP) (mg/L) <0.00005
T hUTT Y — (=T RAY — ) (mg/L) <0.00001
Vo L i o PA 3 N (mg/L) <0.0001
Y o o 2 -7 (mg/1.) <0.0001
v 7 o = N (mg/L) <0.0001
> = % 7 o — % (mg/L.) <0.0001
A - - N T . % (mg/L) <0.0001
Nz A v 7 ow v X F L (mg/L) <0.0001
= % - J > 7 A (mg/L) <0.0001
vy 7 v X v 7 oz vV (mg/L) <0.0001
- 7 ¥y =z 7 = NS (mg/L) <0.0001
7 % 3 5 = JL (mg/L) <0.0001
A~ N 2 i K ( SAP) (mg/L) <0.0001
> S S A A = S S a2 (mg/L) <0.0001
7 + A % (mg/L) <0.0004
A F A KX A4 A om v (mg/1.) <0.0001
kv 7 gk ARRAF NV F X I v (mg/L) <0.0001
%N x VA 4 7 ' v (mg/L) <0.0001
J v A F X ¥ = ) (mg/L) <0.0001
)7L -2-7 hF LT F ) (mg/L) <0.0001
= N = - - NG (NIP) (mg/L.) <0.0001
7 = a % N (mg/L) <0.0001
- 4 b ® JV  Fx = k (mg/L) <0.0001
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EPN % ¥ v N (mg/L) <0.00001
A4 Y ® ¥ F 4 v F F J v (mg/L) <0.00001
A4 Y 7 = v Ik A K X V) v (mg/L) <0.000005
- v K 2 N 7 = — kK (mg/1.) <0.0001
c N P - 7 I ) Ik (mg/1.) <0.000005
7 v g ¥ U kK A K X v v (mg/L) <0.00001
i A A . A% (mg/L) <0.00001
7 = = btwva FF v F X v (mg/L) <0.00005
MPP % JL i X % N (mg/L) <0.00005
MPP 2 L AR N (mg/L) <0.00005
MPP i X >V v (mg/L) <0.00005
MPP #+ % ¥V v X )L K ¥ ¥ R (mg/L) <0.00005
MPP 4 &% Y v A JL K (mg/L) <0.00005
7 X% I K A F X vV v (mg/L) <0.0001
7 a F O kK A F F Vv (mg/L) <0.00001
7 v £ 7 F K F 7 0 % (mg/L) <0.0001
~ 7 F * o F X (mg/L) <0.0001
A F X F F v x I (mg/L) <0.00001

(mg/L)
7 + v N 7 ) R (mg/L.) <0.0001
A N - A R (mg/L) <0.0001
A 7 = Y 7 N (mg/L) <0.0001
ya 7 = 5 4 — JL (mg/L) <0.0001
=4 7 J = Zp 2 (mg/L) <0.0001
-z v A A 7 7 X R (mg/L) <0.00001
7 = ~ D JL (mg/1.) <0.0001
~ v k S A > N (mg/L) <0.0002
iR W+ = N (mg/L) <0.00005
A b~ 7 J = — JL (mg/L) <0.0001
(mg/L)

7 v X v F v S A F L (mg/L) <0.0001
7 A b~ ) v (mg/L) <0.0001
e + ~ Nz 7 s K (mg/L) <0.0001
A < >/ A )b - o N (mg/L.) <0.0001
y = =22} Y — J P (mg/L) <0.0001
-— ~ ¥ ¥ 2 g 7 @ v (mg/L) <0.0001
_— ~ ~ N VA = K (mg/L) <0.0001
4 X W . 2 % (mg/L) <0.0001
7 X VA N JL (mg/1.) <0.0001
* ¥ v KX v I T F (mg/1.) <0.0001
J = T 7 = v v (mg/L) <0.0001
y v 2~ 7 = ) ¥ K (mg/L) <0.0001
7 oa g X — )b ¥ X F L (TCTP) (mg/L.) <0.0001
7 v b v U Rk AR XA F )L (mg/L) <0.0001
Y sy o wm 7 = v F F v (ECP) (mg/L) <0.00005
Y J = A 4 N (mg/L) <0.0001
Y v v v F wa oy T (mg/L) <0.0001
e J 2 JL 7 = N (mg/L) <0.0001
% / 7 7 7 N (mg/L) <0.0001
Y 7 = ) a F J  — ) (mg/L) <0.0001
A R A N = (mg/L) <0.0001
DA - - . % (mg/L) <0.0001
e - = D4 = JL (mg/L) <0.0001
3 A = 5 >V — JL (mg/L) <0.0001
Y A F L B > Kk A (mg/L.) <0.0001
Y A = ~ 1% — ~ (mg/L) <0.00001
> 7 7 v F Tz v (mg/L) <0.0001
D4 v A 7 ) N (mg/L) <0.0001
7 7 7 = 7 J K (mg/L) <0.0001
7 7 A ~ S va U (mg/L) <0.0001
7 7 JL va < N (mg/L) <0.0001
S k5 7 v )L B v & A (CVMP) (mg/L) <0.0001
> N Z7 = F = )L (mg/L) <0.0001




